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http://www.nature.com/nature/journal/v456/n7218/fig_tab/nature07331_F2.html
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http://www.nature.com/nature/journal/v505/n7481/fig_tab/nature12886_F2.html




Figuré s

PCA on the iris dataset
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import numpy as np
from matplotlib.mlab import PCA
import matplotlib.pyplot as plt

f = open('iris.data.txt', 'r'")

sepal_len
sepal_wid
petal_len
petal_wid

fields = ["sepal length", "sepal width", "petal length", "petal width"]

for line in f:
line = line.split(’', ")
sepal_len.append(line[0])
sepal_wid.append(line[1])
petal_len.append(line[2])
petal_wid.append(line[3])

data = np.zeros(shape=(150, 4))

for t in range(len(data)):
datal[t] = [sepal_len[t], sepal_wid[t], petal_len[t], petal_wid[t]]

for 1 in range(20):
print(datalil)

myPCA = PCA(data) # new PCA object
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# .Y is 'data' put into PCA space

plt.plot(myPCA.Y[0:50, @],myPCA.Y[0:50,1], 'o', markersize=7, color='blue’, alpha=0.5, label="1. setosa")
plt.plot(myPCA.Y[50:100, 0],myPCA.Y[50:100,1], '~', markersize=7, color='red', alpha=0.5, label="I. versicolor")
plt.plot(myPCA.Y[100:150, 0], myPCA.Y[100:150,1], '+', markersize=7, color='green', alpha=0.5, label="1. virginica")
plt.xlim([-5,5])

plt.yllm( [‘5; 5])

plt.xlabel('PC1")

plt.ylabel('PC2")

plt.legend()

plt.title( 'PCA on the iris dataset')

plt.show()
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https://archive.ics.uci.edu/ml/machine-learning-databases/iris/iris.data
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